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QUESTION 1

An Ethernet switch has eight ports and all ports must be operational for 24 hours; from Monday through Friday.
However, a failure of Port 5 occurs as follows: Tuesday = 6 AM to 7 AM

Thursday =5 PM to 9 PM
Friday = 8 AM to 9 AM
What is the MTBF of Port 5?
A. 30 hours

B. 32 hours

C. 40 hours

D. 38 hours

Correct Answer: C

Reference: https://www.sqconline.com/mtbf-calculator-results

QUESTION 2

Which VMware product has pre-defined workflows that helps to automate and coordinate the service delivery and
operational functions in a storage infrastructure?

A. NSX

B. vSphere ESXi

C. vRealize Orchestrator
D. Horizon

Correct Answer: C

Reference: https://www.vmware.com/products/vrealize-orchestrator.html

QUESTION 3

What is a key advantage of implementing FCIP?

A. Provides a disaster recovery solution by replicating data across data centers.

B. Enables migration of VMs across data centers by using existing FC networks.
C. Ensures lossless transmission of FC traffic across data centers over Ethernet.

D. Provides a dedicated network for transmission of storage traffic within a data center.
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Correct Answer: A

Reference: https://www.cisco.com/c/dam/en/us/solutions/collateral/data-center-virtualization/ieee-802-1- data-center-
bridging/white_paper_FCIAFCoE.pdf

QUESTION 4

In the event of a disk failure, which RAID level enables quick data reconstruction?
A.RAID 3

B. RAID 5

C.RAID 6

D. RAID 10

Correct Answer: C

QUESTION 5

What is determined by the amount of space configured for the journal in continuous data protection (CDP) replication?
A. Length of time required to recover the data

B. Length of time the recovery points can go back

C. Amount of data that can be restored to a specific point

D. Amount of space the source and replica volumes require

Correct Answer: D

Reference: https://www.mycloudwiki.com/san/network-based-replication-cdp-overview/
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